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Chapter 8
Arrays and the ArrayList Class

( Test 1

1.
The statement: double[] array1  new double[10]

(a)
Declares array1 to be a reference to an array of double values

(b)
Creates an instance of an array of 10 double values

(c)
Will allow valid subscripts in the range of 0–9

(d)
All of the above

Answer:
D, Introduction To Arrays

2.
What will be the value of x[8] after the following code has been executed?

final int SUB  12;

int[] x  new int[SUB];

int y  100;

for(int i  0; i  SUB; i)

{

x[i]  y;

y  10;

}

(a)
170

(b)
180

(c)
190

(d)
200

Answer:
B, Introduction To Arrays

3.
What will be the results of the following code?

final int ARRAY_SIZE  5;

float[] x  new float[ARRAY_SIZE];

for(int i  1; i  ARRAY_SIZE; i)

{

x[i]  10.0;

}

(a)
All the values in the array are initialized to 10.0

(b)
All the values, except the first, are set to 10.0

(c)
The program will crash when it is executed

(d)
There will be a compilation error

Answer:
C, Introduction To Arrays, Out-of-bounds check

4.
What would be the results of the following code?

int[] x  {55, 33, 88, 22, 99, 11, 44, 66, 77};

int a  10;

if(x[2]  x[5])

a  5;

else

a  8;

(a)
a  5

(b)
a  8

(c)
a  10

(d)
This is a compilation error, you cannot compare array elements

Answer:
A, Processing Array Contents

5.
What would be the results after the following code was executed?

int[] x  {23, 55, 83, 19};

int[] y  {36, 78, 12, 24};

for(int a  0; a  x.length; a)

{

x[a]  y[a];

y[a]  x[a];

}

(a)
y[]  {23, 55, 83, 19} and x[]  {36, 78, 12, 24}

(b)
x[]  {36, 78, 12, 24} and y[]  {36, 78, 12, 24}

(c)
x[]  {23, 55, 83, 19} and y[]  {23, 55, 83, 19}

(d)
This is a compilation error

Answer:
B, Processing Array Contents

6.
What will be the value for x[1] after the following code is executed?

int[] x  {22, 33, 44};

arrayProcess(x);

…

public static void arrayProcess(int[] a)

{

for(int k  0; k  3; k)

{

a[k]  a[k]  5;

}

}

(a)
27

(b)
33

(c)
38

(d)
49

Answer:
C, Passing Arrays as Arguments

7.
When an array is passed to a method

(a)
A reference to the array is passed

(b)
It is passed just as an object

(c)
The method has direct access to the original array

(d)
All of the above

Answer:
D, Passing Arrays as Arguments

8.
True/False To compare the contents of two arrays, you must compare the elements of the two arrays.

Answer;
True, Some Useful Array Algorithms and Operations

9.
What would be the results of the following code?

int[] array1  new int[25];

… // Code that will put values in arrat1

int value  array1[0];

for (int a  1; a  array1.length; a)

{

if (array1[a]  value)

value  array1[a];

}

(a)
value contains the highest value in array1

(b)
value contains the lowest value in array1

(c)
value contains the sum of all the values in array1

(d)
value contains the average of the values in array1

Answer;
B, Some Useful Array Algorithms and Operations

10.
A partially-filled array is normally used

(a)
When you know how many elements will be in the array

(b)
With an accompanying parallel array

(c)
With an accompanying integer value that holds the number of items stored in the array

(d)
To display array elements

Answer:
C, Some Useful Array Algorithms and Operations

11.
To return an array of long values from a method, use ____ as the return type for the method.

(a)
long

(b)
long[]

(c)
long[array_size]

(d)
[]long

Answer;
B, Returning Arrays from Methods

12.
In memory, an array of String objects

(a)
Consists of an array of references to String objects

(b)
Is arranged the same as an array of primitive objects

(c)
Consists of elements, each of which is a String

(d)
Must be initialized when the array is declared

Answer:
A, String Arrays

13.
Given String[] str has been initialized, to convert all the characters in the String str[0] to upper case, use the following statement:

(a)
str.uppercase();

(b)
str[0].upperCase();

(c)
str.toUpperCase();

(d)
str[0].toUpperCase();

Answer:
D, String Arrays

14.
True/False When an array of objects is declared, but not initialized, the array values are set to null.

Answer:
True, Arrays Of Objects

15.
The sequential search algorithm

(a)
Requires the array to be ordered

(b)
Returns the value it was searching for

(c)
Uses a loop to sequentially step through an array, starting with the first element

(d)
Will not execute, if the element is not in the array

Answer:
C, The Sequential Search Algorithm


Use the following code to answer Questions 16–17

public class Class1

{

public static void main(String[] arg)

{

String[] stID  {“ABC”, “DEF”, “GHI”, “JKL”, “MNO”};

int[] grade  {95, 78, 88, 98, 86};

String str1  “GHI”;

boolean found  false;

int loc  –1;

int sub  0;

while (!found && I  stID.length)

{

if (stID[sub]  str1)

{

found  true;

loc  sub;

}

sub;

}

System.out.println(grade[loc]);

}

16.
The while loop is an example of

(a)
A sort algorithm

(b)
An algorithm to locate the largest element

(c)
A sequential search algorithm

(d)
An algorithm to sum the values of an array

Answer:
C, The Sequential Search Algorithm

17.
What is the value of stID.length?

(a)
1

(b)
2

(c)
3

(d)
4

(e)
5

Answer:
E, String Arrays

18.
True/False A sorting algorithm is a technique for scanning through an array and rearranging its contents in some specific order.

Answer:
True, The Selection Sort and the Binary Search Algorithms

19.
In order to do a binary search on an array,

(a)
The values of the array must be numeric

(b)
The array must first be sorted in ascending order

(c)
You must first do a sequential search of the array to assure the element you are looking for is there

(d)
There are no requirements

Answer:
B, The Selection Sort and the Binary Search Algorithms

20.
True/False Any items typed on the command-line, separated by space, after the name of the class are considered to be one or more arguments that are to be passed into the main method.

Answer:
True, Command Line Arguments and Variable-Length Argument Lists

21.
What is the value of scores[2][3] in the following array?

int [] [] scores  { {88, 80, 79, 92}, {75, 84, 93, 80}, {98, 95, 92, 94}, {91, 84, 88, 96} };

(a)
94

(b)
84

(c)
93

(d)
95

Answer:
A, Two-Dimensional Arrays

22.
If numbers is a two-dimensional array, which of the following would give the length of row, r?

(a)
numbers.length

(b)
numbers.length[r]

(c)
numbers[r].length[r]

(d)
numbers[r].length

Answer:
D, Two-Dimensional Arrays

23.
Which of the following is a correct method header for receiving a two-dimensional array as an argument?

(a)
public static void passArray(int[1,2] intArray)

(b)
public static void passArray(int [][] intArray)

(c)
public static void passArray(int[1],[2] intArray)

(d)
public static void passArray(int[], int[]intArray)

Answer:
B, Two-Dimensional Arrays

24.
A ragged array is

(a)
A two-dimensional array for which the number of rows is unknown

(b)
A one-dimensiona array for which the number of elements is unknown

(c)
A two-dimensional array when the rows are of different lengths

(d)
There is no such thing as a ragged array

Answer:
C, Two-Dimensional Arrays

25.
True/False Java limits the number of dimensions that an array may have to 15.

Answer:
False, Arrays with Three or More Dimensions

















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































